17. Effects of Growth
1. Insert the correct words:
Business growth can be ___________________ (expanding current business activities) or __________________ (driven by external mergers or takeovers). By whatever means a firm grows though, managing growth is challenging. As firms increase in size ​​​​​__________________​__________of scale become more apparent and external influences potentially more significant. The faster the growth (and the bigger a firm gets) the more difficult it is to ensure that corporate, human resource, ​​​_____________________ and marketing strategy can scale up with the business and are all able to keep pace with possibly rapid change. That said, whilst growth is an objective of many firms, it is not an objective for all – many small firms are happy to stay small.

Words from: advertising, diseconomies, inorganic, economies, operations, organic
2. Which? An example of Organic (O) or Inorganic growth (I)?
2.1 Like for like sales growth has increased 10% ​​​___
    2.2 A successful marketing campaign improves sales    ___
2.3 5 % profit growth (including acquisitions) 
___
    2.4 A recent merger increases capacity by 25%
         ___
3. Growing Pains
	
	Year 1
	Year 2
	Year 3

	No of Stores
	20
	60
	120

	Sales
	£2m
	£5m
	£9m

	Cost per Unit
	£10
	£8
	£6

	% Product Returns
	1%
	2%
	6%

	Labour Turnover
	4%
	8%
	14%

	Workforce (Headcount)
	150
	800
	1800

	Interest Rate on Bank Loan
	6.7%
	6.0%
	4.3%


By focusing on urban fashion for the ‘hip, cool and conscientious’ StreetwiZe, a clothing retailer, has grown rapidly:
3.1 Which factors suggest a benefit of growth and which a disadvantage?

Benefits - _______________________________________________________________________________

Disadvantages -  __________________________________________________________________________

3.2 Calculate the changing average headcount per store.  Briefly comment on your findings: 
______________________________________________________________________________________

______________________________________________________________________________________

3.3 As StreetwiZe’s new CEO, which factor(s) would you consider most significant? Briefly explain why:

______________________________________________________________________________________

______________________________________________________________________________________

4. Data Response. A Coffee Shop on Every Corner
Many critics of Starbucks say that the bigger it gets and the faster it grows the more corporate it becomes. They claim that, as new stores have been added, the customer service and “romance and theatre” of a Starbucks visit have deteriorated. With so many staff, many working part-time, and after its aggressive global expansion it was “inevitable that sales would stagnate and quality fall”. In the 2009 recession sales nosedived, so Starbucks closed 1000 stores.
4.1 Identify and briefly examine two issues related to Starbucks rapid growth.

______________________________________________________________________________________
______________________________________________________________________________________

4.2 Was it “all but inevitable” that Starbucks” sales would stagnate and quality fall” as a result of rapid growth?

______________________________________________________________________________________
______________________________________________________________________________________

17. MARK SCHEME: Effects of Growth
1. (In order of gap) organic … inorganic … diseconomies … operations

2. Which? An example of Organic (O) or Inorganic growth (I)?
2.1 ​​​Organic

2.2 Organic
2.3 Inorganic

2.4 Inorganic
3. Growing Pains
3.1 Benefits – Sales growth (though average sales per store are falling); falling cost per unit, better terms on loan.

Disadvantages – Labour turnover; % Product Returns.

3.2 Year 1 – 7.5; Year 2 – 13.3; Year 3 – 15

StreetwiZe’s average headcount per store has doubled; whilst one would expect it to increase as layers of supervision and management are added, such a significant rise suggests inefficiency and possibly overstaffing.

3.3 The falling sales per store and increasing average headcount per store are both significant issues – and are probably linked.  Efforts to increases sales are likely to be constrained by the apparent overstaffing issues, these should be addressed first.

4. Data Response

4.1 Accusation of becoming ‘corporate’ – rapid global expansion  (‘a Starbucks on every corner’) has resulted in Starbucks becoming associated with the negative aspects of globalisation. 

Customer service issues – difficulty of controlling service across so many stores; management spread more thinly; in the rush to expand training possibly hurried.
 The use of part-time staff will have compounded these issues. 

The corporatisation of Starbucks will also have impacted the working environment; in a necessarily more bureaucratic and controlling environment staff more likely to treat Starbucks employment as a ‘McJob’ affecting the once heralded “romance and theatre” of a Starbucks visit.
Communication issues – Increasingly difficulty of ensuring consistent communication; global expansion thwart with language and cultural difficulties. 

4.2 No; challenges and difficulties were inevitable but Starbucks could have managed them better. Stagnation of sales could be as much do to with recession as effects of growth.
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